

DEFENDER SUPPLY

845 West FM 407 Argyle, TX 76226

Date	12/8/2017
Estimate	George Severe
Estimate	george@defendersupply.com
Ву	(903) 564-5641



Bill To
Williamson County TX PCT. 1 Constable
Sgt. Mike Pendley
1801 E. Old Settlers Blvd., Suite 105
Round Rock, Texas 78664

Customer Contact	Mike Pendley # 5101			
Customer Phone	512-943-1327			
Customer E-mail	mpendley@wilco.org			
Estimate #	17856			

2018 Chevrolet Tahoe RWD 9C1

Vehicle Base Color - Black

Description	Location	Qty.	Cost	Total
2018 Chevrolet Tahoe RWD 9C1 Police Pursuit Vehicle with EcoTec3 5.3-liter, Dual Batteries, Heavy Duty Locking Differential, OnStar with Bluetooth Connectivity, Vinyl Rear Seat & Front Recovery Tow Hooks. (No Spotlight) (Purchased Through Holiday Chevrolet).	Vehicle Description	1	32,559.45	32,559.45
Vehicle Sold for \$32,559.44 - Total Sales Price is \$153,007.00 - Each Unit is \$51,219.00 X 3 = \$153,657.00 - \$650.00 (customer Supplied Docking Station) = \$153,007.00				
Vehicle is Purchased Through Holiday Chevrolet (Johnson – Grayson Automotive) using The Tarrant County Cooperative Contract # 2016-006				
Add: AMF - 6 Additional Key FOB's \$66.00 5HP - 6 Additional Keys \$41.00 BTV - Remote Start \$300.00 Total - \$407.00				
Black Units - Unmarked Unit - NO SPOTLIGHT				
Vin # 1 =1GNLCDEC8JR179343 Tech = Ed - \$51,219.00 Vin # 2 =1GNLCDEC1JR182651 Tech = Gerardo - \$51,219.00 Vin # 3 = 1GNLCDECXJR181630 Tech = Ed - Customer Supplied Docking Station - \$50,569.00				
Customer PO # Each Unit is \$51,219.00 X 3 = \$153,657.00 - \$650.00 = \$153,007.00				
Title Vehicle As: Williamson County TX SO 710 S. Main St. Ste. 301 Georgetown, TX 78626				
Whelen Inner Edge for 2015+ Chevy Tahoe 9C1, Suburban, 2014+ Chevy Silverado-1500/2500/3500, Twelve 6-LED DUO™ Lamps, Upper Front Unit, Two Piece, Individual Driver and Passenger Side Units		1	1,006.52	1,006.52
Whelen Cencon Sapphire Siren System		1	810.00	810.00
Whelen 100 Watt Speaker		1	108.90	108.90
Whelen Behind the Grill Siren Speaker Universal Swivel Bail Type Mounting Bracket		1	24.65	24.65
Plastix Plus console for a 2015+ Tahoe with Whelen Cencon Siren Controller & Motorola APX7500/DB/Dash Mount Q5 Control Head		1	630.00	630.00
Plastix Plus Padded Arm Rest		1	65.00	65.00
Plastix Plus Computer Post # POST		1	75.00	75.00
Plastix Plus RTPL Rotating Swivel Plate # RTPL		1	50.00	50.00
Plastix Plus Off Set Plate # MP-410 10" Offset Plate		1	48.00	48.00
Plastix Plus Rotating Angle Plate # RSPBS		1	61.00	61.00

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

Vehicle and Emergency Equipment Total

Quantity Ordered 3

Total Vehicle Order Cost \$153,007.00

Page 1



845 West FM 407 Argyle, TX 76226

Date	12/8/2017
Estimata	George Severe
Estimate	george@defendersupply.com
By	(903) 564-5641



Bill To
Williamson County TX PCT. 1 Constable
Sgt. Mike Pendley
1801 E. Old Settlers Blvd., Suite 105
Round Rock, Texas 78664

Customer Contact	Mike Pendley # 5101			
Customer Phone	512-943-1327			
Customer E-mail	mpendley@wilco.org			
Estimate #	17856			

2018 Chevrolet Tahoe RWD 9C1

Vehicle Base Color - Black

Description	Location	Qty.	Cost	Total
Plastix Plus VMA-LO Universal Laptop/Tablet Mount Kit # VMA-LO		1	103.00	103.00
Troy Mic Brackets		2	8.50	17.00
Whelen Low Frequency Howler Siren System		1	485.00	485.00
Stinger DS LED - 12V DC Steady Charge - Mounted to Side of Console		1	50.00	50.00
3 Additional 12Volt DC Heavy Duty Electrical Power Socket w/moisture cover - Mounted on Right Side of Console		3	5.20	15.60
Compartment Light, Split Red/White - Mounted over Console		1	48.00	48.00
Docking station for CF30/31 (power supply included) - Only Wants (2) Docking Station - One will be customer supplied.		1	650.00	650.00
Make & Model of Customer Supplied Laptop - Panasonic - Two will be CF-31's & one will be a CF-54 (customer Supplied) Does the of Customer Supplied Laptop have Docking Capabilities - Yes Is the of Customer Supplied Laptop a No RF, Single RF or Dual RF - Dual RF with External power supply Does the of Customer Supplied Laptop have a built-in power supply - Wire for power please.				
Make & Model of Customer Supplied Police Radio - Motorola APX7500/DB/Dash Mount O5 Control head - Customer to Install, Please Pre-Wire - Customer to Provide the Roof Antennas. Does the Customer Supplied Police Radio need to be "Hot", Powered all the time or on Ignition - On Ignition Is Customer Supplied Police Radio a One or Two Piece Unit - One Piece What is the Frequency of Customer Supplied Police Radio - 800Mhz				
Two Way 800 MHZ Radio Antenna & Coax Cable		1	30.67	30.67
Whelen Solid State Chevrolet Tahoe Headlight/Taillight Flasher		1	63.56	63.56
Go Industries Push Bumper for the 2015+ Chevrolet Tahoe 9C1		1	233.90	233.90
Two Whelen M4 Lightheads (1 Red, 1 Blue) Mounted on Push Bumper or Brush Guard w/Brackets		1	246.44	246.44
Whelen IONJ Red/Blue Spilt Head LED's W/Swivel Mounts - Mounted on Sides of Push Bumper Whelen ION™ LED Bracket with Swivel in Black - Mounted on Sides of Push Bumper		2 2	106.92 19.305	213.84 38.61
Whelen 360 Degree LED Side Emitter Light Head - Clear - Mounted in Daytime Running Lights		2	76.67	153.34

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

Vehicle and Emergency Equipment Total

Quantity Ordered

\$153,007.00 **Total Vehicle Order Cost**



845 West FM 407 Argyle, TX 76226

Date	12/8/2017
Estimata	George Severe
Estimate	george@defendersupply.com
Ву	(903) 564-5641



Bill To
Williamson County TX PCT. 1 Constable
Sgt. Mike Pendley
1801 E. Old Settlers Blvd., Suite 105
Round Rock, Texas 78664

Customer Contact	Mike Pendley # 5101			
Customer Phone	512-943-1327			
Customer E-mail	mpendley@wilco.org			
Estimate #	17856			

2018 Chevrolet Tahoe RWD 9C1

Vehicle Base Color - Black

Description	Location	Qty.	Cost	Total
Whelen Mirror Beam for 2015+ Tahoe (RED/BLUE split)		1	234.60	234.60
Whelen Dual Avenger LED Red/Blue		2	162.20	324.40
Whelen ION (1) Red & (1) ION Blue Mounted on Rear License Plate Bracket at Rear License Plate		1	184.31	184.31
Whelen TAD8RB Traffic Advisor & Mounting Bracket in Red/Amber/Blue - with On/Off Override Kill Switch to Turn Off Light Stick when Rear Liftgate is Opened.		1	434.81	434.81
HG2 - 66" Running Board Light for 2015+ Red/Blue		1	691.90	691.90
Setina Free-Standing Dual Weapon Lock with Two Universal Locks and Handcuff Key Override - Truck/SUV		1	550.13	550.13
No Partition, Cargo Cage or Window Bars				
Compartment Light, Split Red/White - Mounted on Rear Liftgate		2	48.71	97.42
L3 Flashback HD Video System L3/Mobile Vision Rear Cam - Mount rear facing camera at the back window L3 Crash-Bat2		1 1 1	4,898.00 290.00 190.00	4,898.00 290.00 190.00
Plastic Plus Rear Cargo Box with Side Plate with Push Button Lock & Key Override Option. # TAH11L3PV-SD (passenger side)		1	1,450.00	1,450.00
NO GRAPHICS				
Window Tint - All Windows - Medium Size SUV (Tahoe) Tint all windows 5% please		1	275.95	275.95
Dealer Prep		1	130.00	130.00
Misc. Shop Supplies		1	30.00	30.00
Shipping of Above Emergency Parts for Upfit		1	140.00	140.00
Defender Supply wiring harness, Top Hat Timer and Blue Sea power distribution block		1	365.00	365.00
Installation of Above Emergency Equipment & Customer Supplied Roof Antennas & External power supply for two Panasonic CF-54 & one will Havis CF-54 Docking Station		37	85.00	3,145.00

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

Vehicle and Emergency Equipment Total

Quantity Ordered 3

Total Vehicle Order Cost \$153,007.00





845 West FM 407 Argyle, TX 76226

Bill To
Williamson County TX PCT. 1 Constable
Sgt. Mike Pendley
1801 E. Old Settlers Blvd., Suite 105
Round Rock, Texas 78664

Customer Contact	Mike Pendley # 5101		
Customer Phone	512-943-1327		
Customer E-mail	mpendley@wilco.org		
Estimate #	17856		

2018 Chevrolet Tahoe RWD 9C1

Vehicle Base Color - Black

Description	Location	Qty.	Cost	Total
Customer to Pick Up Vehicle				
	 ergency Equipment To			\$51,219.00

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

Vehicle and Emergency Equipment Total	\$51,219.00
Quantity Ordered	

Page 4

SIGNATURE _____